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N i S 145 0 145 1,740 670 2,410
=4 i # 138 0 138 1,656 590 2,246
5 b 0 151 26 177 2,122 737 2,859
W& R 145 15 160 1,914 573 2,487
o 51 B 140 9 149 1,793 632 2,425
oy s S 129 12 141 1,690 594 2,283
It I 4 141 11 152 1,827 643 2,470
i = IR 139 143 1,717 609 2,326
J i 4 135 141 1,697 600 2,297
(B% . fiR)
N i i 142 14 156 1,874 740 2,615
& i 119 12 131 1,571 620 2,191
V2 - S 147 15 161 1,936 714 2,651
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PN 13 JiF 114 114 1,368 527 1,895
1t iz JIE] 110 110 1,320 471 1,791
" A B 123 21 144 1,730 602 2,332
moo= i R 116 12 128 1,531 458 1,990
= i IR 111 7 118 1,421 501 1,922
po #l Ji 102 9 112 1,338 470 1,808
I Ji I 111 9 120 1,439 506 1,945
JK s U 109 3 112 1,348 478 1,827
1 it] 4 108 3) 113 1,357 480 1,837
(2% ElfiR)
R 13 ifi 113 11 124 1,492 589 2,081
Bt ifi 99 10 109 1,307 516 1,823
4w RBROW 110 11 121 1,452 514 1,966
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R 13 JiF 117 0 117 1,404 540 1,944
1t iz JIE] 116 0 116 1,392 496 1,888
" A B 129 0 129 1,543 550 2,093
eow I R’ 120 0 120 1,440 569 2,009
= i IR 121 0 121 1,451 517 1,968
po #l Ji 112 0 112 1,344 471 1,815
I Ji I 114 0 114 1,368 488 1,856
JK s U 111 0 111 1,336 476 1,812
1 it] 4 111 0 111 1,332 475 1,807
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R 13 ifi 120 120 1,440 569 2,009
# ifi 95 95 1,140 450 1,590
4w RBROW 123 0 123 1,470 551 2,021
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xK i IS 103 0 103 1,236 475 1,711
it g i# 104 0 104 1,248 445 1,693
H o3 4l 116 0 116 1,392 496 1,888
wooom R 108 0 108 1,296 512 1,808
% i I 106 0 106 1,277 455 1,732
ho s IS 103 0 103 1,236 433 1,669
I i [ 104 0 104 1,248 445 1,693
i = [ 96 0 96 1,157 412 1,569
@ i ! 98 0 98 1,176 419 1,595
(5%)

xK i i 106 106 1,272 502 1,774
9 i 85 85 1,020 403 1,423
4w B 108 0 108 1,294 485 1,778
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xK i IS 93 0 93 1,116 429 1,545
it g i# 90 0 90 1,080 385 1,465
H o3 4l 103 0 103 1,240 442 1,682
W& R 97 0 97 1,164 460 1,624
% i I 98 0 98 1,172 418 1,590
ho s IS 96 0 96 1,152 404 1,556
I i [ 93 0 93 1,116 398 1,514
i = [ 90 0 90 1,081 385 1,467
@ i J 89 0 89 1,068 381 1,449
(5%)
xK i i 97 97 1,164 460 1,624
9 i 78 78 936 370 1,306
4w B 99 0 99 1,188 445 1,633
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PN i ¥ 102 102 1,218 469 1,687
=4 i i} 104 104 1,242 443 1,685
H hi %0 136 26 162 1,939 665 2,604
W& R 116 12 128 1,531 573 2,104
% 51 I 126 8 135 1,614 506 2,130
ho 0 s 116 10 127 1,519 534 2,054
= R I 113 11 124 1,489 463 1,951
5 B I 125 129 1,545 609 2,154
& i I 135 6 141 1,697 600 2,297
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N i i 128 13 141 1,687 667 2,357
1 i 119 12 131 1,571 620 2,191
% o R 50 0 50 600 200 800
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PN i ¥ 91 91 1,094 448 1,542
=4 i i} 88 88 1,056 376 1,432
i hi %0 123 21 144 1,730 602 2,332
o & R 99 10 108 1,301 458 1,759
% 51 IR 103 7 111 1,327 451 1,778
ho 0 s 97 9 106 1,271 447 1,718
= R I 94 9 103 1,238 376 1,615
5 B I 101 3 104 1,247 478 1,725
Z i I 108 5 113 1,357 480 1,837
(2% . GItiE)
N i i 102 10 112 1,342 532 1,878
1 i 99 10 109 1,307 516 1,823
% o R 88 11 99 1,188 463 1,647
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N sy < N 99 0 99 1,193 540 1,733
N a1 82 0 82 983 540 1,523
£ wm 104 0 104 1,253 496 1,749
T 129 0 129 1,543 550 2,093
W& R 114 0 114 1,368 512 1,880
£ m R 111 0 111 1,334 517 1,852
e 112 0 112 1,344 471 1,815
5 R 99 0 99 1,193 488 1,681
s B R 100 0 100 1,202 476 1,679
T 111 0 111 1,332 475 1,807
(5% Ba)
X K 114 114 1,368 569 1,937
. i 95 0 95 1,140 450 1,590
T 103 103 1,230 551 1,781
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N sy < N 88 0 88 1,050 475 1,525
N a1 72 0 72 865 475 1,340
I it i 94 0 94 1,123 445 1,568
P 5 # 116 0 116 1,392 496 1,888
ooz R 103 0 103 1,231 461 1,692
= o I 98 0 08 1,175 455 1,630
5 0 s 103 0 103 1,236 433 1,669
R e I 92 0 92 1,103 445 1,548
% B I 89 0 89 1,070 412 1,483
5 e I 08 0 08 1,176 419 1,595
(BE HA)
X b i 101 101 1,208 502 1,711
5 i 85 0 85 1,020 403 1,423
boow B 88 88 1,054 485 1,539
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N sy < N 79 0 79 948 429 1,377
N a1 65 0 65 781 429 1,210
R 81 0 81 972 385 1,357
T 103 0 103 1,240 442 1,682
W% R 92 0 92 1,106 414 1,520
= m W 90 0 90 1,080 418 1,498
R %6 0 %6 1,152 404 1,556
5K R 84 0 84 1,004 398 1,402
B B R 83 0 83 1,000 385 1,385
T 89 0 89 1,068 381 1,449
(5% HAT)
N 92 92 1,105 460 1,565
3 0 78 78 936 370 1,306
4 & B 79 79 948 445 1,393




